Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

15

1.0

0.5

0.0

-0.5

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

1A1742-294-JEMX1-MJID53987.335496_lc.txt / MJD 53987.335602 / burstid=6175

- Grey line: exponential fit Peak flux: 1.022+/- 0.426 c/s/cm® ]
: plack Ihe: powerlaw * gauss it Fluence : 26.78+/- 10.42 clem’ ]
- P Duration : 116.96+/- 44.70 s =
L Best fit model: 1. i
L Best fluence model] 1. i
. | uration mode|:|1 I
: K] |
: i TR TN e
g Mﬂﬂ rﬁm FW ] m F | \"LT WW I W H | | ‘ | H il
; Exponential fit é
= Expon.time: 52.66+/- 19.45 s (chi*-red= 0.95) =
= | b by Hig b | byt =
= ﬁﬂﬂ#ﬂﬁﬂwﬂw ﬁ#ﬁﬁwm+ﬂ+ﬂ*Hﬂﬂﬂ#ﬂwﬁ*jﬁw ﬁwﬁﬁiWﬂ”+wg+ﬁ*Qm*ﬁJH#*H*ﬁ++++ﬂﬂ+++ﬂ+%Mﬂﬁm ﬁﬁmﬂﬁﬁﬁw*ﬁﬁ#ﬂHjwwmwﬂﬁWﬁﬂ j“ﬁWﬁ—:
= f =
; Power law fit é
E Power law index: -0.667+/- 0.222 (chi*-red= 0.96) =
= | b IR, bk b | T -
= Mg iyt M*MﬂwHﬁﬂHﬁ+HH#ﬁwMﬂwmﬂﬂ%jﬁ%mJﬁﬁ*QﬂwwH*ﬁm#ﬂ*waH*ﬁﬁﬁ*ﬁﬂ ﬁﬁWﬁ?
= f =
i T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 54.52+/-17.03 s, fracgs= 0.83+/- 0.64) =
= Power law index: -1.435+/- 5.098 (chi’-red= 0.95) 3
= + b b Hid b | bt 3
= ﬁwwﬂwﬁW Wﬁw*ﬂ+ﬂ+ﬁ+wﬂﬂ“ﬂwﬂf+ﬁ# WMWﬂ”+wj+ﬁ*gm*%m#*ﬂ*ﬁ+++ﬂ*++++*+#ﬁﬂjﬁﬁﬁjﬁwﬁw ﬁﬁﬂwﬁwf*WﬂﬂJHWWWﬂ+Hﬁ+w j”ﬁwwﬁ;
= f =
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L E

0 100 200 30

Time [s]

0



